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Question Number : 1 Question Id : 4050369305 Question Type : MCQ Option Shuffling : Yes Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let A={1, 2, 3}. Define a relation R on A

as :
aRb = |a2—b3=5.

Then which of the following is not true ?

R~ 1=R, where R ! is the inverse
of R.

Range of Ris A.

R is reflexive and symmetric.

R is symmetric and transilive.
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A A={1,2,3} ¥l AW UF T=4 R =
‘&'mtrfiwfﬁﬁ%:
aRb = |a>—b%=5

A1 fret § | =1 o9 9o T8 2 ?

R-1=R, &=l R~ 1 R =1 ufa«id

(inverse) gl

R 1 9 A 1
R TEqed a1 {HiAd 2

R THfHd q41 ST ¢ |

The locus of the point
z=x+iy (x,y e R, 1=+ 1} satisfying

.ar [z 3J=E*
5\Zz+3) 3%

a circle with radius | =2./3

s circle with centre-af [43; D]

T
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a circle with centre at (0, 2\5} and

40503633812, Tadius3

an e]]jpse with length of ils minor axis
iy

us g9 fowst 5= 2.3 21

w9 fomen % (V3, 0) 2

e g9 o % (0, 243 ) qen o
321

U g T o7 S FT g 32
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Question Number : 3 Question Id : 4050369307 Question Type : MCQ Option Shuffling : Yes Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If both the roots of the equation,
x?—2ax +a®—1=0(ae R) lie in the interval
(—2, 2), then the equation,
x2—(a2+1)x—(a2+2)=0 has

both roots in (— 3, 0)

one root in (0, 2) and another root in
(—2,0)

one root in [2, 3) and another root in
(—2.0)

one rootin( — 3, — 2) and another root
in (0, 2]

Afg THF, x2-2ax+a2-1=0(ae R) &F

SFl gel, e (-2, 2) ° €, ° weEm
x2—(a?+1)x—(a2+2)=0:

¥

FSH gt (-3, 0) H T
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=1 UF 7 (0, 2) F 9 THA A (—2,0)
40503633815, 1 €|

F1UH q [2,3) H a9 A HA (—2,0)
i

FUF JA (-3, —2) 7 991 THA A
0,2] % &1

If the system of equations
x+y+pz=-—1
3x—-2y+z=q
5x —8y+9z=>5
has more than one solution, then q—p is

equal to :
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Question Number : 4 Question Id : 4050369308 Question Type : MCQ Option Shuffling : Yes Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Afe T
2x+y+pz=-1
x—-2y+z=q
5x —8y+9z=>5

= =

FUFH ATHEAS, dq-p TR T :

All the words (with or without meaning)
formed using all the five letters of the word
GOING are arranged as in dictionary. Then
the word OGGIN occurs at the place which
is :
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th
40503633822, 4)
(9t

(GO

G

we2 GOING & 941 5 A% =1 TAF 3 g0
0 U Tt vI=e (91 9 FdEE 2 91 374 7
&), IEEHV F SATEAR =arke fHy T E @
g OGGIN 4= § 4 fof ™" W s ?

(48) =
(49) =i
(50) =i

(51) =
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Correct Marks : 4 Wrong Marks : 1

The sum

& i g 10 18 26

3 92
infinity, is equal to :

2
8

A7

24

11
24

w |

£

IR TS

"S AT S

2 2 10 18 2%

T E ;

— 4+ — + — 4
3 92 g3 ot ¢
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3
40503633826. O

17

24

11
24

ol

Let r and s be respectively the remainders
when (12)* and (23)!? are divided by 5,
thenr+s isequal to:
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Question Number : 7 Question Id : 4050369311 Question Type : MCQ Option Shuffling : Yes Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=4 (12)2 qem (23) 12 %61 5 | farfsrd foan sman
T @ FEY: WIESA r A s B, o r+s AH

3

Let fbe a differentiable function satisfying
f(x+y)=flx)+fy)—xy forall x, ye R. If
i, F ) |

10
-=23,then } f(n) isequalto:

n=1

lim
h—o h
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THI f U STAHCHE Fed ¢ 5 T 1,1 ¢ R
T, flx +y) = f(x) + fy) — xy T Fg= F

gl qﬁ#ﬂ}'}%:}%’ﬁ ?;{n}w
T

n=1
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Question Number : 9 Question Id : 4050369313 Question Type : MCQ Option Shuffling : Yes Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For non-zero real numbers a, b, if

y(x) = ——=—,x>0and y’(5)=0, then
x4

the ratina:bis:
.-J'g -3
..3 : w‘g

V5:43

Y andfas Gl a 9491 b % fog afe

a+bx? ,\
Y(x) = ——=—,x>0TM y'(5)=07%, @
x4
U a b FA T :
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40503633838, V3 3

IS:JE

V5:43

The function f(x)=sin2x+ 2cosx,
.;‘r: ( 3 3’:1'] ha
€ =y = B
TS

no critical point.

a point of local maxima and a p::rint

of local minima.

a point of local maxima and a point
of inflection.

a point of local minima and a pnint
of inflection.
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Question Number : 10 Question Id : 4050369314 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e f(x) =sin2x + 2cosx, xe [ % %}

E O
I it forg T 2
o ffes &
us fag T SfEw # A uw
AferafEd fag 2
uF fag wEE ffEs & a9 o
Aferafiad fag 2|

_ j cos>0 o
The integral sind(4 — 3 sin220) is
equal to :

(where C is a constant of integration)
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cc-55 B
—lo
5

i

5i.r15 0+ c055[3|

o
l ngE ﬁsm i _ Yo
24 sin® 0 + cos®H

1 | sin®0 |
+C
Be |sir15[! | c055{1|

1 5%
— log, ;m 3 W +C
6 sin” 0 + cos”d

s

40503633846.

5
cos i)
d0 e
j sin0(4 — 3 sin®20) ¥

(5@ C U% FHFeH A E 1)

1

5
s f)
ke —— | F C
b sin~ B + cos U|
1 sin® 0
lo : . +C
24 BE ciﬂﬁﬂ | r'ncﬁn
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1 | sin’0

— log,
40503633848. lsin®0 + cos0]

1 s°0
— log, ;m 3 W +C
6 sin” 0 + cos"f )

FC

The area (in sq. units) of the region bounded
by the parabolax =2y*and the linex + y=1

15 :

G|
12

93
24

we

W= | L1
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Question Number : 12 Question Id : 4050369316 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TEeE, x =2y 941 1, x +y=1 50 a5
25 1 Uel (97 SEEdl H) ®

1
12

3
24

we

W= | L1

Let y=y(x) be the solution of the differential

d
equation xlog, x ay F2y=2x (x >1), If

lim y(x) =1, then y(e?) is equal to :
r—1+
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40503633854, 2

e2 +1

AE y=y(x), FAFA HHHIO,

xlog, x gx—y +2y=2x{xl"1}$lﬂ?f%l?1ﬁ

lim y(x) =1 &, ?ﬁy(ez}ﬂ'{l?ﬂ%:

-1+
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40503633857, € + 1

If (:-;I., yl.}, i=1, 2, 3 are the vertices of an
equilateral triangle such that

(%, +3) 2+ (y; —4)%=(x, +3)% + (y,—4)2 =
(x3+3)2+ (y; —4)2, then the value of
1ty tY .

15
Xi +Xx3 +Xx3

4
3

0o | W

| G

W |
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Ifg T FHag By F o =g (v, ), i=1,
2,3 & fome fau

(x+3)2 + (y —4)?= (1 +3)7 + (y,~ 4)* =

vity2+ys
El
X1 +x3 +x3

(x3+3P+ (13-4 % @

HFI%:

W |

e | G
03 |

e |

[f tangent at [ to the circle

i, 43
V2' 2)
x2 4 y2= 1 is also a tangent to the circle
(x—a)? + (y —b)?>=1, then the ordered pair

Lo Tt mmen Ty o
(o Cor ot
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Options : |
(-2, V2)
40503633862. '
(-2, 242)
(2 242)
(-2, \2)

A yz=1a;m§[%, %]ww:ﬁﬁ

@A, (x —a)>+ (y— b)2 =1t TI9f T
%,ﬁ%ﬁﬁﬂ‘ﬂ(a,h}ﬁlm%:
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(-v2, v2)

40503633865.

The foci of a h}fperbola coincide with the
'xz 2
foci of the ellipse, T I _1.1f the

eccentricity of the hyperbola is 4, then its
equation is :

T
7 105 4
Sl .
7 105 16
2y 1
20 is) 16
g, b
5 i) 16
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Correct Marks : 4 Wrong Marks : 1
TF Afamaag & A9 F=, g,

2 2
%|%=1%W%W%lqﬁ
AfTRETT 1 Ieh=dl 4 €, 91 THH THEH
T
T |
7 105
il .
7 105 16
2 oy 1
0 75 16
o I
5 75 16

If the plane P:2x i+ 3z +5=0 is rotated

through 90° about its line of intersection
with the plane 5x —4y— 2z + 1=0, then the

egquation of the plane P in the new position

is : )
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Options :

40503633870, 2/ X~ 24y—26z+13=0

27x—24y—26z—-13=0
3x+2y—20z—-13=0

3lx 25y F20z4+13=0

Ffg A P : 2x—y+3z+5=0 H THIA
5x—4y —2z+1=0791 ¥9qa P &l Fid=sad
Y % WY 90° % IV W HMEN Sl 8, Al
4t feafa & ooae P o1 Tt ©

27x—24y—26z+13=0
27x—24y—26z—-13=0

Slx+2y—20z-13=0

3lx 25y F20z4+13=0
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Correct Marks : 4 Wrong Marks : 1
The top of two poles, standing 4 m apart
on a horizontal plane, are connected by a
cable. If the angles of depression from the
top of one pole to the bottom of another
pole are 30° and 45°, then the minimum
length (in m) of the cable is :

||32\a"§ 16

128 — 32 3

3
3

122 -323
3

112 -32.3
\ 3
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Afas 9t W 21 W 4 T F g W HY |
Z forF ol 1 UF F9 (cable) BRI =0
TR A TE TS F M TR e F
e W STEFEA F0 30° TA145° T A1 FHae Hi
g orerg (qf. #) #

||32~¢'§ 16
3

(128 - 32 /3
3

122 - 323
3

112 -32.3
3
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Let A, B and C be three events such that

the probability of occurrence of exactly one

1
of A and B is 5 the probability of

occurrence of exactly one of B and C is i

and the probability of occurrence of exactly

1
one of C and A is e If the probability of

occurrence of all the three ewvents

1
simultaneously is 16" then the probability

that at least one of the three events will

OCCur is :

w|~

15
16

www.FirstRanker.com
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AT &9 9298 A, B 991 C 39 UFH ® 6
= = = = (& 1
A ATB H ¥ 9 UF F 29 F gIaFd > ,
e m = = ~ 3
B A« C H 9 51 Us & 2 FI 9l + T,
e m e L . 1
aﬁicwanqmﬂwa?aﬁmmﬁlmg
| It 99 T2 e F UF 91 EH I WEEa
1 = L ne e me o m = =
ﬁ%,ﬂTE‘IﬂWHHSHHHWHEHTﬁ?EE
M F 9w B

ey
ﬂ~.|““~"

w|~1

15
16
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let

p : I have passed JEE (Main),

q : My JEE (Main) rank is 100, and

r: I will appear in JEE (Advanced)

be three statements with truth values

T,F and T respectively. Then which one of
the following has the truth value, F 7

(~pv ~qnar
PA~Qv(~T)
~pv Qa(~D

(~prgvr
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Ikl
p : ¥4 JEE (Main) urg =2 fon 2,

q : ¥ JEE (Main) # ¥ (Rank) 100 & e
r : ¥ JEE (Advanced) =T Titeqm gm

& %y 2, o 9emE 99 T,Fagn T
A= A R g F 2

(~pv ~QAr

(PAr~qgv(~T1)

[~ Py @ii~T

(~prgvr
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' s R
LetB = { i 10 ] be the matrix obtained

by applying the elementary row operations
Ry »R,—R,, R, 2R, and
Ry — R;—2R, (in this order only) on a

malrix A. Then the sum of all entries of A

is

5 to0 5.002

Question Number : 21 Question Id : 4050369325 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

At ATE A W IRiEE ufe dfwans
Ry, ->R,-R,, R; — 2R, LE)
Ry =R, 2R, (Faa gHl 0 H) F W4 A
| 2
10

22 2 3 R
aqrzqu:[ﬁ }WW%,FHAH;

|l 319941 (entries) 1 AMTHA © |
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Possible Answers :
510 5.002

Question Number : 22 Question Id : 4050369326 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

For beN, if the limit of the function

| ([5x —4], x<4

f(x) = {[x +Db]
L 2

L)

., x>4

when y — 4, exists and [t] denotes the

greatest integer =t, then b is equal to

5t0 5.002

Question Number : 22 Question Id : 4050369326 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

beN % ferd, ®eM f(x) = { [x + b]
I
FI HIH TEAF s 4 T AT & S [t
TEwH YUl <t I ST €, o b GO ¥

, x>4

[[Bx —4], x <4
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 23 Question Id : 4050369327 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If S = {xe[0, 47]: sin2x — cosx = 0} and the
sum of the elements of S is ks, then k is

equal o

5t0 5.002

Question Number : 23 Question Id : 4050369327 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

g S = {xe[0, 47]: sin2x — cosx = 0} & q=m

Y= S F 9t SFFFE1 1 A0TFA kB, A1k

T |
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Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 24 Question Id : 4050369328 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the mean of the numbers

7, =5, —2,x,51s —1, then the variance

of the numbersx —3,4x, x +3is

5 to0 5.002

Question Number : 24 Question Id : 4050369328 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afe d&msii -7, -5, -2, x, 5F = ~ 1%,
A GEms x—3, 4x, x+3 HT IEIO T
|

Unh

TAYAYa)
. UVUL
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Question Number : 25 Question Id : 4050369329 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the equation of a plane I passing through
the point ? | ), bk is

K- (2: ; | EIFFW =3, then the length of
¥ s

the perpendicular from the point

M

4; ] 3k on the plane P is

5t05.002

Question Number : 25 Question Id : 4050369329 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

e TF FHaE P, W g § 4 G4k WEE

STl & o THIE -[2? i aﬂ —ae
A

7 ] T 2 |
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.002

Aptitude Test
Section Id : 405036336
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036671
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 4050369330 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object
answer figures.
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. Identify the correct top view from amongst the

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

3 - D Y9 HAHfd § UF 9% & U g9 I femmn T ¥ sHe Wel S 9vd, ST SN o |
e |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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3 - D WY T | UF 9% F U gyd I G@E T | T WE S gy, ST ARl § 9
TE= |
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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3 - D Y9 A § UF 9% F UF 399 F fo@mmn T ¥ cHE WE I 9v9, S nfadi 4 o
T |
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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3-D 9 AFE H UF 95 F UF 999 F fo@d T ¥ | THE WE S 39, S AF A 8 9
e |
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

.-"-I-' .\x"-\.‘_
o -~
e 1
Ny
N
e S M
e .
-

. )
l_.-'ﬁ'\-\._.\‘ T L
g e, e b
[\HH' b '-'. .i"-'l-'
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?
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Which one of the answer [ igures is the correct mirror ima ge of the prnblem I igure with respect
toX-X7?
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Which one of the answer [ igures is the correct mirror irnage of the pr::rh lem [ igure with respect
toX-X?
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Which one of the answer [ igures is the correct mirror image of the pm‘ulem [ igure with respect
toX-X?
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Which one of the answer [ igures is the correct mirror irnage of the pmhlem [ igure with respect
toX-X?
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Find the odd [ igure out of the prnblem figures given below.
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A Firstranker's choice

40503633931.

Find the odd [ igure out of the prnhlem figures given below.

i

www.FirstRanker.com

www.FirstRanker.com

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice )
www.FirstRanker.com

40503633936.
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40503633936.

Find the odd [ igure oul of the prnhiem figures given below.
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40503633940.
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40503633940.

Find the odd [ igure out of the prnblem figures given below.
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40503633944.
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Find the odd [ igure out of the prnhlem figures given below.
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eI,
= '”'}\_'
| ) /|
o }-Q'\-F E: &

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503633948.

N

»,

(
e

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503633951.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

3 - D 9¥ 3fd H U 9% F UF 399 H fom@mn g | 9% H foun ¥ 2wy g, oo agm e
I AFGE H F TE= |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 42 Question Id : 4050369346 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 42 Question Id : 4050369346 Question Type : MCQ Option Shuffling : Yes Display Quc
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 43 Question Id : 4050369347 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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40503633961.

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 45 Question Id : 4050369349 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503633970.

Which one of the answer figure will complete the sequence of the three problem figures ?
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Question Number : 46 Question Id : 4050369350 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1

Which one of the answer ﬁgure will complete the sequence of the three prnblr_-m figurea ?

?

T SAFTE H W FA = SAF F A T AFGE H T H STTFA (sequence) T 2 SR ?

7

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Options :

40503633975.

Which one of the answer figure will complete the sequence of the three problem figures ?
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40503633981.

e 5

Which one of the answer figure will complete the sequence of the three problem figures ?
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Question Number : 50 Question Id : 4050369354 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 52 Question Id : 4050369356 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 = D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Question Number : 52 Question Id : 4050369356 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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—

40503633998.

The3-Df igure shows the view of an nbject. Identify the correct view in the direction of the
arrow, from amongst the answer figures
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40503634001.

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503634005.

3 - D Y9 TEd H U 9% F U g9 i femmn e g o 6 fewn | S gy, s U 9y
I A H | T2 |

N
ra A
o

P ‘“\L" i
< s

e -

b

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503634005.

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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40503634008.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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40503634011.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Options :

40503634015.
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Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Question Number : 58 Question Id : 4050369362 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503634022.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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40503634024.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The White House is which one of the
following ?

Residence of Prime Minister of
Germany

Residence of Prime Minister of France

Residence of Prime Minister of Spain

www.FirstRanker.com

esidence of President of USA
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Question Number : 61 Question Id : 4050369365 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

=152 2y refafad 8§ 4 FH | e?
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In the Northern Hemisphere the summer

sun rises from which one of the fﬂllnwf_ng
directions ?

MNorth East
MNorth West

South East
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40503634038, >0uth West
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In which of the following States is the
Golden Temple located ?

Haryana

Punjab
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40503634041, Assam

Nagaland

Treafafga § 4 #M 9 929 § = qie fuq

What is the thickness of a one and a half
brick thick wall ?

9”’
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40503634045, 18"

13.5"
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o
12"
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Which one amongst the following supports
the masonry above doors and windows ?

Foundation

Lintel
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40503634049, S1ab

Wooden frame
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The Leaning Tower in [taly is located in
which one of the following cities ?

Florence
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40503634052, Venice
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Rome
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Which one of the garden of the following
is a terraced garden in 5rinagar ?

Nishat
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40503634056, Y1indaban

Buddha

MNehru
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What amongst the following is the name
of the famous museum in H}rderahad ?
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40503634059, alaknuma

Salarjung,

Gandhi

Nizam

Freferfad § & #1191 geUEe & 16s SR
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Which one of the color is made when blue

and yellow are mixed 7
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Options :

40503634063, Violet

Orange

Green

White

el AR T T F g A FA M T TAA 2 ?

Which one of the f::-]_lc-wing color suggests
love and romance ?

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503634067, Dlue

Green
Pink

Brown
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Which one of the following suggests the
texture of the skin of the elderly persons ?

Glossy
Wrinkled
Smooth

Soft
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Correct Marks : 4 Wrong Marks : 1

Which one of the following is fixed to drain
water from a sloping roof ?

Ridge
Eave
J. Bolt

Gutter

=1 5 9 $19-91 U 51 F1 B4 9 fwed &
feru Forara o T 27
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the [ nﬂnwmg isideal [ Innrf_ng
for a cinema hall ?

Granite
Brick
Marble

Car pet

Frefafaa 3 I =m @ farm g F fou e
i E?
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Question Number : 74 Question Id : 4050369378 Question Type : MCQ Option Shuffling : Yes Display Quc
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who among the following is the architect
of the Punjab Haryana High Court
Building ?

Maxwell Fry
Le Corbusier

Louis Kahn

Geoff rey Bawa

fEdaameg?

A

o w [l

ol

TEE
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40503634086, 7 !

Which one among, the r:-]]nwing is used for
water conservation ?

Water drainage
Water evaporation
Water harvesting

Water flowing

el T F fou f=fafad 3 9 6 @ g1@m
fra s 2 ?

EEAREA

T ST
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40503634089, o1 HHEAT

A HATE

Secondar}r sector of economic act:ivit}r is
associated with :

Agriculture

Manufactur i_ng
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40503634093, Service

Mining

sfeias et = e (Secondary) & FFE
H gty g2

F

Allocation of powers and functions
between Union and State governments is
given in which schedule of the Constitution
of India ?

First Schedule
www.FirstRanker.com
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40503634096, Lhird Schedule

Fifth Schedule

Seventh Schedule

T 91 T=0 TN F =59 A a9 FrEt
1 AFA HRAE |G H 9 ST |
e T &2

TEe S
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Which of the following criteria is not the
basis of classification of natural resources ?

Exhaustibility
Ownership
Origin

Climate

= # 9 9 W AFde Ngfas dEEE 6
SATTERT0T T FHATER 2 & 7

EEIGIERE
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Correct Marks : 4 Wrong Marks : 1

Who amongst the following was involved
in design of New Delhi ?

Sir Edwin Lutyens
Le Corbusier
Otto KDnigsherger

Patrick Geddes

= o | T 75 faeet &1 femea faan?
T U= wfead
W FE

Afge Aifew
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Jawaharlal Nehru National Urban Renewal
Mission (JNNURM) was launched in :
1970
1975

2005

2010

(JNNURM) =1 [9REY & T mar ?

1970 §
1975 4

2005 H

2010 H
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Question Number : 81 Question Id : 4050369385 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the [ ollnwr'rlg does not involve
cr}rm:nunit}-' parﬁcipatinn ?

Demarcation of dense forests

Urban Basic Services for the poor

Joint Forest Management

Beej Bachao Andolan

EF% * ‘wm ) ',
el o T e gerd Han
HYed 91 FAHA
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Question Number : 82 Question Id : 4050369386 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Out of Mohenjo-daro, Harappa, Lothal and
Dholavira, which of the following cities
were laid out on grid pattern ?

Mohenjo-daro and Harappa

Mohenjo-daro, Harappa and
Dholavira

Harappa and Lothal

Mohenjo-daro, Harappa, Dholavira
and Lothal

HIETsl-ST2, T2, Wigd a9 dres § §
o et =1 U= Ted o == & ?

HigTell-STSl 941 E2

= \_aTg-\Tr : HEH = [

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503634117, T N a4l eTE

HreTal-2Tel, B9, ST a9 Ay

Whatis the full form of 10T ?
International Organisation for Trade

Internet of Tweets

Interest on Transactions

Internet of Things

IOT &1 01 M (full form) 1 &7
International Organisation for Trade

Internet of Tweels
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40503634121, Interest on Transactions

Internet of Things

The Second United Nations Conference on
‘Human Settlements Habitat IT' was held
in :

Vancouver
K}fo to
Istanbul

Quito

' Teered BfEee 111 W R WY W
aeYer fohm st  Aratera faan o ?

A
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40503634124, FAI<T

ERlis Gl

ferren

The first Sub-urban Ra_ilway line in India
started its operation in :

1857
1954

1901

1837

TRA H Tecll STTHE I g &1 J9re (69
Y I% g1 7

E;
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40503634128, 1984
1901

1837

Which of the following cities is not planned
ona grid pattern ?

Washington DC
Amsterdam

Barcelona

New York

= vl ° 9 917 W U2 ¥ed w98
T/
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40503634131. St

The ],argest source of water pr:-llutir:un in
India is due to :

Small Scale Industries
Agricultural Run-off
Untreated Sewage

Large Scale Industries

Id H el 950 ol =9 E6 B
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Options :

40503634135, 13 S
FHY HTERE

ﬁ it

= =

a2 T

What is indicated h}r a contour line on a
topographical map ?

Height
Administrative Boundary
Vegetation

Water Body
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TS TAF A (topographical) o T TH=
(contour) &1 FT T &2

ElS

JYHF

The ratio that shows a relationship between
the distance on a map and the actual
distance on ground is known as :

Direction
Ke],r map
Scale

Isotherm

www.FirstRanker.com
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

€ T, S TR R GH T SRl WA
T F A= TF =y F fmm E, T E g
o | S T # 7

fesm

129 aAf=A

Find the correct match :

(P) Dhanbad (I)  Textle

(Q) Kandla (IT) Mining

(R) Bokaro (IIT) Port

(S) Surat (IV) Steel
Industry

(P)-(I), (Q)-(1), (R)-(I), (S)-(IV)

(P, (Q)-(II), (R)-(IT), (S)-(IV)
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40503634149, T, Q)-(D), R}-AV), (S)-(D

(P)-(I0), (Q)-(II), (R)-(IV), (S)-(D

HeEl HeH F sifay

(P) =% ) Fu=
(Q e I =T
(R) @& (1) =ewme
() W (V) Efa e

(P)-(I0), (Q)-(D, (R)-(I), (S)-(IV)

(P)-(@), (Q)-(II), (R)-(IT), (S)-(IV)

(P)-(ID), (Q)-(), R)-(IV), (S)-(D

(P)-(I0), (Q)-(II), (R)-(IV), (S)-(D
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Select the indicative graph that best fits the
Statement : “Car prices rose steadily,
dropped a little and are now holding

steady”.
. J

(a) ®)
o | / (D) /

(A)

®)

D)

Both (C) and (D)
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Fgq ' HR H HEG EEG T G =E, e
F9 g5 au1 o7 e 8 W wey sAfuw fve
BH ATl Hickfeh wai== %1 MU :

|
Ve

(4) (B)

(C) e (D)
(A)
(B)
(D)
(C) @41 (D) =t
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530
[t
£ 20
615
El; s Men
,E 5 = Women
5 0-
¥ N & S
4:;; Q\&Ib \g}{b C C:"'%L
{‘\c" KQ{'
0 0
v >

The diagram above shows the number of
men and women using different modes of
transport to commute to their work place.

Which of these statements is the correct
answer 7

50% of all those who cycle to their
work places are women

More men compared to women use
auto-rickshaw for commuting to
work place

More women compared to men cycle
to their work place

The highest share of persons walk to
their work place
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Question Number : 92 Question Id : 4050369396 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

30

Bos
20

% 15 e
10 : .
5 = g

Ll s ég
ES

IR A UfEed & | il ¥ 9
T T A gEE a9l Aigensd & e
femmn 21

1w H W FE A S R

I 94, 51 AsfEa 9 A9 i =E W
T E, 50 % AiEems € |

T =@ W TH & fou Afgens i =it
T ¥ SAF T80 12— =1 T

FHEI

TEH FT g H AT Afeend GEfrd
q 37 F14 T AT 2

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503634158, T T TS ST T

One site is divided into 10 x 10 units as
shown in the figure. It has following
classification of land area.

(A) Waste land 5§

(B) Forest land [

(C) Agriculture land

(D)  Unused land []

(I i
i A
gl
i - - I'I'"',
Al W s

= 111

i
1]

A fli
i A

o
-

||| o

'l:'.-:r_l'_

7T
e
o
e,
i
¥
o el

i -"_r_l."
i

Which of the following classification has
the highest amount of land ?

Waste land

Forest land

A =} 1a 1 . |
HEL TULITLLETE Tal il
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40503634162, Unused land

TEIEa H S9Y, SEE U 9152 &l 10 x 10
Trgdl | fasnfom foman 0 &1 yfa &= =
Wﬁiﬁrﬂ'{ﬁ[ﬁf%:

(A) =R IEE

(B) ST A

(©) FMH9HE 7

(D) gs i+ O

7 P B
74111 O 7
J.-"'-.'E_r At il
A R
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40503634161. ﬁ qiﬁ:'

AT YA

In the given figure the volume of the
shaded port:ion ig

30,800

15,400

7,700
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feu o wErfas § SMEifEd ¥ %1 SAEdd ¢

15,400

7,700

Following table gives the number of
families according to family size. What is
the average family size ? (Rounded off to
one decimal)

S.No. | Family size No. of families
(persons)
' 3 300
/. 4 200
3 5 400
4 & 400

www.FirstRanker.com
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Options :
40503634167, 4.5

47

49

5.0

AR % AR & ATIR THan] 1 Je@ 4
AR § < E T 3HiHd IRER SR 2

(U= SYHEAS TH T G)
FHH.| UER =R aiEn =+
(=3t ) HE
1. 3 300
2. 4 200
3. 5 400
4, A 400
45
4.7
49
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Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. Itsaid the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition to a low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

The term “decoupling” here would entail :

Birth control measures to reduce

resource C Dmumptinn

Production of cheap materials

www.FirstRanker.com
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Promoting growth that stresses on
reducing the rate of consumption of

natural resources
40503634174.

Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition to a low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

The term “decoupling” here would entail :

Birth control measures to reduce

resource C Dmumptinn

www.FirstRanker.com
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40503634172, Production of cheap materials

Talk less and work more

Promoting growth that stresses on
reducing the rate of consumption of

natural resources

Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’” economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition toa low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

Identify the correct statement :

www.FirstRanker.com
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140 billion tons of natural resources

40503634175 will be consumed till the end of 2050

Green econo my refers toan economy
that is based on forest resources

Green economy refers to an economy
that pr oduces at lower carbon
footprint and is resource efficient

The UN has asked governments to
reduce their economic growth
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Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition toa low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

Identify the correct statement :

140 billion tons of natural resources
will be consumed till the end of 2050

Green economy refers to an economy
that is based on forest resources

Green economy refers to an economy
that produces at lower carbon
footprint and is resource efficient

The UN has asked governments to

reduce their economic gmwth

www.FirstRanker.com
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Question Number : 98 Question Id : 4050369402 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Statement : The citizens of Narbhada city
are facing water shortage.

Given are the two courses of acltion
available to the Municipal corporation.

(I) The Municipal Corporation of
Narbhada should immediately take
action to prevent all water leakages
and theft.

(Il The Municipal Corporation of
Narbhada should cut the water
supply to its residents by half.

Which of the following options is most
appropriate ?

only (I)
only (II)
both (T) and (IT)

neither (I) nor (II)
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HI : T4 V=T F AN IE F FHH AT

THIEE
TR 7 % T 3 Fdarfzal s
(1) 4= & TR f7m F1 9= A qon =56
%1 Tid T o o0 HEaTe! A 9med |
(I 4= F TR 9 F1 v et w1
STergfe AT F <A =i |
foe o & % @ fasey gau fEa 22
Fad (I)
Fad (I0)
(T) T (IT) ST
T (1) A (D

In a survey taken for household income in
an area, mean annual income of the
households came to be Rs 10.0 lakh and the
median income was Rs 4.0lakh perannum.
Which of the following statement will
explain the difference between mean and

median icome ol the houaseholds 7
www.FirstRanker.com
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Options :
more than 50% of the households
40503634183, have income around 10.0 lakh

more than 50% of the households
have income much higher than
10.0 lakh

few households have income much
higher than 10.0 lakh

most of the households have income
between 4.0 lakh to 10.0 lakh

UF oF H ufEni ®t a9 & fau feu s
Tdeqn § Ufarl &1 aifdd AF &1 A2
%, 10.0 G T30 94T 37T 1 qifegeRT 4.0 g
wid =9 of | =9 w5 | F149 W 9ian) S5
A o A1 Y7 HIFSAE 1 A T Tl

27

50% H Afaes IfER FT S T
10.0 =g T
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50% | Aty 9fEr =t 319 10.0 @E

40503634184, &0 At 21
F9 & THar 1 3 10.0 @M 9 98
A B |
AfYHaT IHER F G 4.0 9RG T97
10.0 @1 & =19

Statement I :

Sustainable  development means
development that takes place without
causing damage to the environment.
Statement 11 :

Sustainable development means
development that meets the needs of the
present without compromising the needs
of the future generation.

Which of these is correct 7

Statement (I) only

Statement (II) only

Both statements (1) and (1)
www.FirstRanker.com
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40503634190. Neither statement (I) nor (II)

9T 1:

Had fa%™ (Sustainable development) =1
A9 = fawm T 91 @ 1 TFEE B
o 2 21

9T 1l:

oad faswm =1 314 3 fawm T < 9fas =i
Tl &l AEYIFIE &l G ° 2ol f9-1 Fa9H
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